

NEPTUNE CAMPUS, NEAR ATLANTIS HEIGHTS, DR.VIKRAM SARABHAI MARG, VADIWADI, VADODARA, GUJARAT, 390007

Ph.No.: 0265-2350630/39 Website: www.neptunerealtygroup.com

## **WORK ORDER**

WO No. 34 SHIP TO:

WO Date: 07/09/2020 NEPTUNE REALTY PVT. LTD.

Contractor Name AASTHA ELECTRICAL GREENWOOD ASPIRE EXP

Address: A/5 Matruchhya Society, Near Amruta Neptune Campus, Sarabhai Road, Vadodara

Soc, Nizampura, Vadodara

Contact No WO Title

PAN: Aspire Tower A

GST: GST No: 24AAACN9837D1ZI Gujarat

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Sr.No	Item Description	Qty	Unit	Rate Rs.	Amount	GST 9	%
1	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	13.00	POINT	475.00	6175.95	18	
	SWITCH						
2	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	3.55	POINT	675.00	2393.55	18	
	SWITCH						
3	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.97	POINT	700.00	1379.00	18	
	WITH 2NO 2WAY SWITCH						
4	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.39	POINT	1000.00	394.00	18	
	WITH 2NO 2WAY SWITCH						
5	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	2.36	POINT	575.00	1359.30	18	
6	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	1.58	POINT	900.00	1418.40	18	
	POINT						
7	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	3.94	POINT	150.00	591.00	18	
	SPEED CONTROLLER						
8	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF BELL POINT	0.39	POINT	675.00	265.95	18	
9	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	9.85	POINT	300.00	2955.00	18	
10	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	1.58	POINT	600.00	945.60	18	

as p	have pleasure in placing with you our Work order for the orthe instruction given by our site incharge.						
11	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.39	POINT	325.00	128.05	18	
	POINT						
12	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2.45	DOWLT	400.00	1240.00	40	
	LABOR FOR WIRING OF 15A SWITCH SOCKET	3.15	POINT	400.00	1260.80	18	_
13	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	1.18		200.00	236.40	18	_
14	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.97	POINT	225.00	443.25	18	_
15	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.39	POINT	400.00	157.60	18	
16	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.79	POINT	300.00	236.40	18	
17	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.79	POINT	250.00	197.00	18	
18	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	197.00	RMT	90.00	17730.00	18	
	MAIN, POWER MAIN						
19	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	43.34	RMT	115.00	4984.10	18	
	TO VARIOUS						•
20	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	4.73		135.00	638.28	18	
	SYSTEM						
21	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	4.73		300.00	1418.40	18	
	UNIT						
22	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	5.52	RMT	790.00	4357.64	18	_
22	DB						
23	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	3.15	RMT	210.00	661.92	18	
	LABOR FOR WIRING OF INVERTER INPUT-OUTPUT	3.13	KWI	210.00	001.92	10	-
24	A 202 ELECTRICAL WORK INTERNAL						
4	ELECTRICAL WORK INTERNAL  ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	27.58	RMT	90.00	2482.20	18	
	SOCKETS	27.30	IWI	70.00	2402.20	- 10	-
25	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL WORK INTERNAL  ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	43.34	RMT	60.00	2600.40	18	
26		15.57		30,00	2000.10		-
26	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 12 WAY TPN DOUBLE DOOR	0.39	NOS	3500.00	1379.00	18	
			131.13	3 3 1 1 1 1 1 1 1 1 1		18	

27							
	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	NOC	4500.00	F04 00	40	
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.39	NOS	1500.00	591.00	18	
0	COMPANY MANUFACTURE						
.8	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK				242.40		
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.39	NOS	920.00	362.48	18	
	HOT WATER SYSTEM						
29	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.39	NOS	1500.00	591.00	18	
_	AC UNITS						
80	A 202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB1 TO DB2	7.09	RMT	225.00	1595.70	18	
1	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	11.55	POINT	475.00	5486.25	18	
	SWITCH						
2	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	3.15	POINT	675.00	2126.25	18	
	SWITCH						
3	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.75	POINT	700.00	1225.00	18	
	WITH 2NO 2WAY SWITCH						
4	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.35	POINT	1000.00	350.00	18	
	WITH 2NO 2WAY SWITCH			<u> </u>			
5	A 401 ELECTRICAL WORK INTERNAL						
-	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	2.10	POINT	575.00	1207.50	18	
,				3,3,00	1207.50		
6	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK				4040.00		
	LABOR FOR WIRING OF 2 WAY CEILING FAN	1.40	POINT	900.00	1260.00	18	
_	POINT						
7	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	3.50	POINT	150.00	525.00	18	
_	SPEED CONTROLLER						
8	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF BELL POINT	0.35	POINT	675.00	236.25	18	
9	A 401 ELECTRICAL WORK INTERNAL						•
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	8.75	POINT	300.00	2625.00	18	
)	A 401 ELECTRICAL WORK INTERNAL						_
-	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	1.40	POINT	600.00	840.00	18	
		1.40	1 01111	000,00	0-0.00	10	
1	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
		U 3E	POINT	325.00	113.75	18	
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.35					
	POINT	0.35					
	•	0.35					

13	per the instruction given by our site incharge.  A 401 ELECTRICAL WORK INTERNAL						
7.5	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	1.05		200.00	210.00	18	
4	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.75	POINT	225.00	393.75	18	
5	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.25	DOINT	400.00	140.00	40	
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.35	POINT	400.00	140.00	18	_
6	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 9*9 CEILING JUNCTION BOX	0.70	POINT	300.00	210.00	18	
7	A 401 ELECTRICAL WORK INTERNAL	0.70	1 01111	300,00	210.00		-
+/	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.70	POINT	250.00	175.00	18	
8	A 401 ELECTRICAL WORK INTERNAL						-
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	175.00	RMT	90.00	15750.00	18	
	MAIN, POWER MAIN						
9	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	20.50	DVIT	445.00	4407.50	4.0	
	LABOR FOR WIRING OF 15A PLUG FROM DB TO VARIOUS	38.50	RMT	115.00	4427.50	18	-
0	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	4.20		135.00	567.00	18	
	SYSTEM						
51	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC UNIT	4.20		300.00	1260.00	18	_
52	A 401 ELECTRICAL WORK INTERNAL						
_	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	4.90	RMT	790.00	3871.00	18	
	DB						
53	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	2.80	RMT	210.00	588.00	18	_
i4	INPUT-OUTPUT						
· <b>-</b> T	A 401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	24.50	RMT	90.00	2205.00	18	
	SOCKETS						
5	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	38.50	RMT	60.00	2310.00	18	_
6	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.25	NOS	3500 00	1225 00	40	
	LABOR FOR 12 WAY TPN DOUBLE DOOR READYMADE DB	0.35	NOS	3500.00	1225.00	18	_
57	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.35	NOS	1500.00	525.00	18	
	COMPANY MANUFACTURE						
8	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.05	NOS	000.00	202.22		
	LABOR FOR FIXING MS FABRICATED BOX FOR HOT WATER SYSTEM	0.35	NOS	920.00	322.00	18	_

as	per the instruction given by our site incharge.						
9	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	1500.00	525.00	18	
	AC UNITS						
0	A 401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK				= =0		
	LABOR FOR WIRING OF DB1 TO DB2	6.30	RMT	225.00	1417.50	18	_
1	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	11.55	POINT	475.00	5486.25	18	
2	SWITCH						
12	A 402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	3.15	POINT	675.00	2126.25	18	
	SWITCH	3.13	101111	073.00	2120.23	- 10	
3	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.75	POINT	700.00	1225.00	18	
	WITH 2NO 2WAY SWITCH						
4	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.35	POINT	1000.00	350.00	18	
	WITH 2NO 2WAY SWITCH						
5	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	2.10	POINT	575.00	1207.50	18	
6	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	1.40	POINT	900.00	1260.00	18	
-	POINT						
7	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK SUPPLY & INSTALLATION OF MODULAR FAN	3.50	POINT	150.00	525.00	18	
	SPEED CONTROLLER	3.30	FOINT	130.00	323.00	10	_
8	A 402 ELECTRICAL WORK INTERNAL						
,0	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF BELL POINT	0.35	POINT	675.00	236.25	18	
9	A 402 ELECTRICAL WORK INTERNAL						
,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	8.75	POINT	300.00	2625.00	18	
0	A 402 ELECTRICAL WORK INTERNAL			-			_
Ü	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	1.40	POINT	600.00	840.00	18	
1	A 402 ELECTRICAL WORK INTERNAL						
•	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.35	POINT	325.00	113.75	18	
	POINT						
2	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	2.80	POINT	400.00	1120.00	18	
3	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	1.05		200.00	210.00	18	
4	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.75	POINT	225.00	393.75	18	

5	A 402 ELECTRICAL WORK INTERNAL						
-	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.35	POINT	400.00	140.00	18	
•	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.70	POINT	300.00	210.00	18	
7	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.70	POINT	250.00	175.00	18	_
3	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	475.00	B.L.T		45750.00	40	
	LABOR FOR WIRING OF CIRCUIT	175.00	RMT	90.00	15750.00	18	_
)	MAIN, POWER MAIN A 402 ELECTRICAL WORK INTERNAL						
,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	38.50	RMT	115.00	4427.50	18	
	TO VARIOUS						-
)	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	4.20		135.00	567.00	18	
	SYSTEM						
	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.20		300.00	1260.00	10	
	LABOR FOR WIRING OF DB TO OUTDOOR AC UNIT	4.20		300.00	1200.00	18	-
2	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	4.90	RMT	790.00	3871.00	18	
	DB						
3	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	2.80	RMT	210.00	588.00	18	_
	INPUT-OUTPUT						
4	A 402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	24.50	RMT	90.00	2205.00	18	
	SOCKETS						-
5	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	38.50	RMT	60.00	2310.00	18	
5	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.35	NOS	3500.00	1225.00	18	
,	READYMADE DB						
7	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 16 WAY SPN DOUBLE DOOR	0.35	NOS	1500.00	525.00	18	
	COMPANY MANUFACTURE	0.33	1103	1300.00	323.00	10	_
3	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	920.00	322.00	18	
	HOT WATER SYSTEM						
9	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	1500.00	525.00	18	

0	A 402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB1 TO DB2	6.30	RMT	225.00	1417.50	18	
	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	==			5 40 4 O 5		
	LABOR FOR 1 LIGHT OPERATED WITH 1	11.55	POINT	475.00	5486.25	18	-
2	SWITCH A 501 ELECTRICAL WORK INTERNAL						
_	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	3.15	POINT	675.00	2126.25	18	
	SWITCH			-			_
3	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.75	POINT	700.00	1225.00	18	
	WITH 2NO 2WAY SWITCH						
4	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.25	DOINT	1000.00	350.00	40	
	LABOR FOR 3NO. 2WAY LIGHT OPERATED WITH 2NO 2WAY SWITCH	0.35	POINT	1000.00	350.00	18	-
5	A 501 ELECTRICAL WORK INTERNAL						
•	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	2.10	POINT	575.00	1207.50	18	
6	A 501 ELECTRICAL WORK INTERNAL						-
-	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	1.40	POINT	900.00	1260.00	18	
	POINT						•
7	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	3.50	POINT	150.00	525.00	18	
•	SPEED CONTROLLER						
8	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF BELL POINT	0.35	POINT	675.00	236.25	18	
		0.33	TOINT	073.00	230.23	- 10	-
9	A 501 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	8.75	POINT	300.00	2625.00	18	
00		0.73	101111	300.00	2023.00		•
,,,	A 501 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	1.40	POINT	600.00	840.00	18	
01	A 501 ELECTRICAL WORK INTERNAL				0.000		-
,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.35	POINT	325.00	113.75	18	
	POINT						-
)2	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	2.80	POINT	400.00	1120.00	18	_
)3	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	1.05		200.00	210.00	18	
)4	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.75	POINT	225.00	393.75	18	
)5	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.35	POINT	400.00	140.00	18	

06	A 501 ELECTRICAL WORK INTERNAL						
50	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.70	POINT	300.00	210.00	18	
)7	A 501 ELECTRICAL WORK INTERNAL						_
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.70	POINT	250.00	175.00	18	
8	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	175.00	RMT	90.00	15750.00	18	
	MAIN, POWER MAIN						
)9	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	38.50	RMT	115.00	4427.50	18	_
0	TO VARIOUS A 501 ELECTRICAL WORK INTERNAL						
10	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	4.20		135.00	567.00	18	
	SYSTEM	20					-
11	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	4.20		300.00	1260.00	18	
	UNIT						
12	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	4.90	RMT	790.00	3871.00	18	
	DB						
13	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	2.80	RMT	210.00	588.00	18	
	INPUT-OUTPUT						
14	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	24.50	RMT	90.00	2205.00	18	
	LABOR FOR WIRING OF RJ 11 TELEPHONE SOCKETS	24.50	K/W I	90.00	2203.00	10	-
15	A 501 ELECTRICAL WORK INTERNAL						
13	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	38.50	RMT	60.00	2310.00	18	
16	A 501 ELECTRICAL WORK INTERNAL						-
10	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.35	NOS	3500.00	1225.00	18	
	READYMADE DB				1223.00		-
17	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.35	NOS	1500.00	525.00	18	
	COMPANY MANUFACTURE						
18	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	920.00	322.00	18	
	HOT WATER SYSTEM						
19	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK					_	
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	1500.00	525.00	18	_
00	AC UNITS						
20	A 501 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4 20	DAAT	225.00	1/17 EO	10	
	LABOR FOR WIRING OF DB1 TO DB2	6.30	RMT	225.00	1417.50	18	

21	per the instruction given by our site incharge.						
- 1	A 502 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	11.55	POINT	475.00	5486.25	18	
	SWITCH						-
2	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	3.15	POINT	675.00	2126.25	18	
	SWITCH						
23	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.75	POINT	700.00	1225.00	18	
	WITH 2NO 2WAY SWITCH						
24	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK				252.00		
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.35	POINT	1000.00	350.00	18	-
	WITH 2NO 2WAY SWITCH						
25	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF CEILING FAN POINT	2.10	POINT	575.00	1207.50	18	
		2.10	POINT	373.00	1207.50	10	-
26	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4 40	DOINT	000.00	4270.00	40	
	LABOR FOR WIRING OF 2 WAY CEILING FAN POINT	1.40	POINT	900.00	1260.00	18	-
27	A 502 ELECTRICAL WORK INTERNAL						
-/	ELECTRICAL WORK INTERNAL  ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	3.50	POINT	150.00	525.00	18	
	SPEED CONTROLLER	3.30	101111	150.00	323.00	- 10	-
28	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF BELL POINT	0.35	POINT	675.00	236.25	18	
29	A 502 ELECTRICAL WORK INTERNAL			<u> </u>			
-/	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	8.75	POINT	300.00	2625.00	18	
30		0.73	101111	300,00	2023.00		-
00	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF EXHAUST FAN POINT	1.40	POINT	600.00	840.00	18	
		1.40	FOINT	000.00	040.00	10	-
31	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.25	DOINT	335.00	442.75	40	
	LABOR FOR WIRING FOR AQUA GUARD PLUG POINT	0.35	POINT	325.00	113.75	18	-
32	A 502 ELECTRICAL WORK INTERNAL						
,,	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	2.80	POINT	400.00	1120.00	18	
33		2.00	101111	100.00	1120.00		-
))	A 502 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	1.05		200.00	210.00	18	
) /		1.03		200,00	210.00	10	
34	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR MODULAR TV SOCKETS	1.75	POINT	225.00	393.75	18	
<u>.                                    </u>		1./3	FUINT	223,00	373.73	10	_
35	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.35	DOINT	400.00	4.40.00	40	
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.35	POINT	400.00	140.00	18	-
86	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	a ==	DC:::=	200 00	0.00	, -	
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.70	POINT	300.00	210.00	18	

37	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.70	POINT	250.00	175.00	18	
88	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	175.00	RMT	90.00	15750.00	18	
_	MAIN, POWER MAIN						
39	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	20.50	B.L.T	445.00	4427.50	4.0	
	LABOR FOR WIRING OF 15A PLUG FROM DB	38.50	RMT	115.00	4427.50	18	
40	TO VARIOUS A 502 ELECTRICAL WORK INTERNAL						
40	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	4.20		135.00	567.00	18	
	SYSTEM	7.20		133.00	307.00	- 10	
41	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	4.20		300.00	1260.00	18	
	UNIT						
42	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	4.90	RMT	790.00	3871.00	18	
	DB						
43	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	2.80	RMT	210.00	588.00	18	
	INPUT-OUTPUT						
44	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	24.50	B.L.T		2225 22	4.0	
	LABOR FOR WIRING OF RJ 11 TELEPHONE	24.50	RMT	90.00	2205.00	18	
45	SOCKETS A 502 ELECTRICAL WORK INTERNAL						
+3	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	38.50	RMT	60.00	2310.00	18	
46	A 502 ELECTRICAL WORK INTERNAL	30.30	10111		2310.00		
40	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.35	NOS	3500.00	1225.00	18	
	READYMADE DB	0.33	1103	3300.00	1223.00		_
47	A 502 ELECTRICAL WORK INTERNAL						
.,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.35	NOS	1500.00	525.00	18	
	COMPANY MANUFACTURE						
48	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	920.00	322.00	18	
	HOT WATER SYSTEM						
49	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	1500.00	525.00	18	_
	AC UNITS						
50	A 502 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	,	B. ( =		= ==		
	LABOR FOR WIRING OF DB1 TO DB2	6.30	RMT	225.00	1417.50	18	
51	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	11.55	POINT	475.00	5486.25	18	

	ELECTRICAL INSTALLATION WORK					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR 2 LIGHT OPERATED WITH 1	3.15	POINT	675.00	2126.25	18
_	SWITCH					
3	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK				4005.00	
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.75	POINT	700.00	1225.00	18
54	WITH 2NO 2WAY SWITCH					
)4	A 601 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK					
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.35	POINT	1000.00	350.00	18
	WITH 2NO 2WAY SWITCH	0.33	101111	1000.00		
55	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF CEILING FAN POINT	2.10	POINT	575.00	1207.50	18
56	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF 2 WAY CEILING FAN	1.40	POINT	900.00	1260.00	18
	POINT					
57	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	SUPPLY & INSTALLATION OF MODULAR FAN	3.50	POINT	150.00	525.00	18
	SPEED CONTROLLER					
58	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF BELL POINT	0.35	POINT	675.00	236.25	18
59	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF 5A PLUG POINT	8.75	POINT	300.00	2625.00	18
60	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF EXHAUST FAN POINT	1.40	POINT	600.00	840.00	18
51	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.35	POINT	325.00	113.75	18
	POINT					
62	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF 15A SWITCH SOCKET	2.80	POINT	400.00	1120.00	18
63	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR RJ11 TELEPHONE SOCKETS	1.05		200.00	210.00	18
64	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR MODULAR TV SOCKETS	1.75	POINT	225.00	393.75	18
55	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.35	POINT	400.00	140.00	18
6	A 601 ELECTRICAL WORK INTERNAL					
	ELECTRICAL WORK INTERNAL  ELECTRICAL INSTALLATION WORK					
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.70	POINT	300.00	210.00	18
57		0.70	. 0.111		210.00	
<i>.,</i>	A 601 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK					
	LABOR FOR 7*7 WALL JUNCTION BOX	0.70	POINT	250.00	175.00	18

68	A 601 ELECTRICAL WORK INTERNAL						
00	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	175.00	RMT	90.00	15750.00	18	
	MAIN, POWER MAIN		·				
59	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	38.50	RMT	115.00	4427.50	18	
	TO VARIOUS						
70	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	4.20		135.00	567.00	18	
	SYSTEM						
71	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	4.20		300.00	1260.00	18	
	UNIT						
72	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	4.90	RMT	790.00	3871.00	18	
<del>7</del> 2	DB						
73	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2.00	DAT	240.00	E99.00	40	
	LABOR FOR WIRING OF INVERTER	2.80	RMT	210.00	588.00	18	
74	INPUT-OUTPUT A 601 ELECTRICAL WORK INTERNAL						
7 -	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	24.50	RMT	90.00	2205.00	18	
	SOCKETS	24.50	IWII	70.00	2203.00	- 10	
75	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	38.50	RMT	60.00	2310.00	18	
76	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.35	NOS	3500.00	1225.00	18	
	READYMADE DB						_
77	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.35	NOS	1500.00	525.00	18	
	COMPANY MANUFACTURE						
78	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	920.00	322.00	18	
	HOT WATER SYSTEM						
79	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	1500.00	525.00	18	
	AC UNITS						
80	A 601 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	. 20	B.L.T	225 22	4447.50	40	
	LABOR FOR WIRING OF DB1 TO DB2	6.30	RMT	225.00	1417.50	18	_
81	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	11.55	POINT	475.00	5486.25	18	
	SWITCH						
82	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2	DON'T	/ <b>7</b> 5 00	2424.05		
	LABOR FOR 2 LIGHT OPERATED WITH 1	3.15	POINT	675.00	2126.25	18	

83	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.75	POINT	700.00	1225.00	18
	WITH 2NO 2WAY SWITCH					
4	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.35	POINT	1000.00	350.00	18
	WITH 2NO 2WAY SWITCH					
35	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF CEILING FAN POINT	2.10	POINT	575.00	1207.50	18
		2.10	POINT	575.00	1207.50	10
6	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK	1 40	POINT	000 00	1260.00	10
	LABOR FOR WIRING OF 2 WAY CEILING FAN POINT	1.40	POINT	900.00	1260.00	18
7	A 602 ELECTRICAL WORK INTERNAL					
,,	ELECTRICAL INSTALLATION WORK					
	SUPPLY & INSTALLATION OF MODULAR FAN	3.50	POINT	150.00	525.00	18
	SPEED CONTROLLER	3.30	. 0	.55,55	323.00	
88	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF BELL POINT	0.35	POINT	675.00	236.25	18
39	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF 5A PLUG POINT	8.75	POINT	300.00	2625.00	18
90	A 602 ELECTRICAL WORK INTERNAL					
. •	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF EXHAUST FAN POINT	1.40	POINT	600.00	840.00	18
91	A 602 ELECTRICAL WORK INTERNAL			<u> </u>		
, 1	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.35	POINT	325.00	113.75	18
	POINT					
92	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF 15A SWITCH SOCKET	2.80	POINT	400.00	1120.00	18
93	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR RJ11 TELEPHONE SOCKETS	1.05		200.00	210.00	18
94	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR MODULAR TV SOCKETS	1.75	POINT	225.00	393.75	18
95	A 602 ELECTRICAL WORK INTERNAL			<u> </u>		
, ,	ELECTRICAL WORK INTERNAL  ELECTRICAL INSTALLATION WORK					
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.35	POINT	400.00	140.00	18
)6		0.33	. 51111		1 10.00	
96	A 602 ELECTRICAL WORK INTERNAL					
	LABOR FOR 9*9 CELLING HINCTION ROY	0.70	POINT	300.00	210.00	10
.7	LABOR FOR 9*9 CEILING JUNCTION BOX	0.70	FUINT	300,00	210.00	18
7	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK	0.70	DOWE	250.00	475.00	40
	LABOR FOR 7*7 WALL JUNCTION BOX	0.70	POINT	250.00	175.00	18
8	A 602 ELECTRICAL WORK INTERNAL					
	ELECTRICAL INSTALLATION WORK					
	LABOR FOR WIRING OF CIRCUIT	175.00	RMT	90.00	15750.00	18

as p	per the instruction given by our site incharge.						
99	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	38.50	RMT	115.00	4427.50	18	
20	TO VARIOUS						
00	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.20		425.00	5/7.00	40	
	LABOR FOR WIRING OF DB TO HOT WATER	4.20		135.00	567.00	18	
04	SYSTEM						
01	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.20		300.00	1260.00	10	
	LABOR FOR WIRING OF DB TO OUTDOOR AC UNIT	4.20		300.00	1200.00	18	_
റാ							
02	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.00	DAT	700.00	2074 00	40	
	LABOR FOR WIRING OF MAIN METER BOX TO	4.90	RMT	790.00	3871.00	18	_
03	DB						
U.S	A 602 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	2.80	RMT	210.00	588.00	18	
	INPUT-OUTPUT	2.00	IWNI	210.00	J00.00	10	
04	A 602 ELECTRICAL WORK INTERNAL						
<b>∪</b> -T	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	24.50	RMT	90.00	2205.00	18	
	SOCKETS	24.30	IWNI	70.00	2203.00	10	
05	A 602 ELECTRICAL WORK INTERNAL						
03	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	38.50	RMT	60.00	2310.00	18	
~		30.30	IUII		2310.00		
06	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.35	NOC	3500.00	4225.00	40	
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.35	NOS	3500.00	1225.00	18	
07	READYMADE DB						
07	A 602 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 16 WAY SPN DOUBLE DOOR	0.35	NOS	1500.00	525.00	18	
	COMPANY MANUFACTURE	0.33	1103	1500.00	525.00	10	
08	A 602 ELECTRICAL WORK INTERNAL						
00	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	920.00	322.00	18	
	HOT WATER SYSTEM	0.33	1103	920.00	322.00	10	
09	A 602 ELECTRICAL WORK INTERNAL						
07	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.35	NOS	1500.00	525.00	18	
	AC UNITS	0.33	1403	1300.00	323.00	10	_
10	A 602 ELECTRICAL WORK INTERNAL						
10	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB1 TO DB2	6.30	RMT	225.00	1417.50	18	
24		0.50	INTI	223,00	1717.50	10	_
31	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK		DOINT	475.00	2425.00	40	
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	_
วา	SWITCH						
32	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4 00	DOINT	47E 00	4245.00	40	
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	_
22	SWITCH						
33	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.00	DOINT	700.00	700.00	40	
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	

234	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH						
35	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	
36	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	
	POINT						
37	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	_
20	SPEED CONTROLLER						
38	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	DOINT	675.00	135.00	40	
	LABOR FOR WIRING OF BELL POINT	0.20	POINT	6/5.00	133.00	18	-
39	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	F 00	DOWLT	200.00	4500.00	40	
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	-
40	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	_
41	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.20	POINT	325.00	65.00	18	
	POINT						
42	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.40	DOWLT	400.00		40	
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	-
43	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK				400.00		
	LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	-
44	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	_
45	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	
46	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	
.47	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	
48	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	
	MAIN, POWER MAIN						
49	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
	TO VARIOUS	22.00	RMT	115.00	2530.00		18

as p	per the instruction given by our site incharge.						
250	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	
	SYSTEM						
251	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT						
252	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	
	DB						
253	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	1.60	RMT	210.00	336.00	18	
	INPUT-OUTPUT						
254	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
	SOCKETS						
255	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	
256	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
	READYMADE DB						
257	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	
	COMPANY MANUFACTURE						
258	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	
	HOT WATER SYSTEM						
259	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	
	AC UNITS						
260	A 1001 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	
261	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	
	SWITCH			<u> </u>			
262	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	
	SWITCH						_
263	A 1002 ELECTRICAL WORK INTERNAL						
-	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	
	WITH 2NO 2WAY SWITCH						
264	A 1002 ELECTRICAL WORK INTERNAL						
'	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH	3.20	. 5				_

<b>6</b> 5	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	
66	A 1002 ELECTRICAL WORK INTERNAL	1.20	FOINT	373.00	070.00	10	_
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	
7	POINT A 1002 ELECTRICAL WORK INTERNAL						
,	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	
_	SPEED CONTROLLER						
8	A 1002 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	
9	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	
0	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	
<u>'</u> 1	A 1002 ELECTRICAL WORK INTERNAL	0.00	101111		100.00		
•	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.20	POINT	325.00	65.00	18	
<b>,</b>	POINT						
'2	A 1002 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	
73	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
74	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	
75	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	
76	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	
77	A 1002 ELECTRICAL WORK INTERNAL	0.10	101111		120.00		
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	
78	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	100.00	DAT	00.00	0000 00	40	
	LABOR FOR WIRING OF CIRCUIT  MAIN, POWER MAIN	100.00	RMT	90.00	9000.00	18	•
79	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
30	TO VARIOUS A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	
	SYSTEM						

as p	per the instruction given by our site incharge.						
81	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT						
82	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	
	DB						
83	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	1.60	RMT	210.00	336.00	18	
0.4	INPUT-OUTPUT						
84	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.4.00	D.4.T		1240.00	40	
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
0.5	SOCKETS						
35	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	22.00	DAT	(0.00	4220.00	40	
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	
86	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
<b>-</b>	READYMADE DB						
87	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	
	COMPANY MANUFACTURE						
88	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	
	HOT WATER SYSTEM						
89	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK				200.00		
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	_
20	AC UNITS						
90	A 1002 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2.40	D.4.T	225 22	040.00	40	
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	_
91	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	
	SWITCH						
92	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	
	SWITCH						
93	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	
	WITH 2NO 2WAY SWITCH						
94	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH						
95	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	

as p	per the instruction given by our site incharge.						
96	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.80	DOINT	000.00	720.00	10	
	LABOR FOR WIRING OF 2 WAY CEILING FAN POINT	0.80	POINT	900.00	720.00	18	_
97	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	
	SPEED CONTROLLER						-
98	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	
99	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	_
00	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK				400.00		
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	-
)1	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	POINT	325.00	65.00	18	
	LABOR FOR WIRING FOR AQUA GUARD PLUG POINT	0.20	FUINI	323,00	05.00	18	-
02	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	
)3	A 1101 ELECTRICAL WORK INTERNAL						•
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
04	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	
05	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	-
06	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.40	DOINT	200.00	120.00	40	
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	-
07	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	10	
20		0.40	POINT	250.00	100.00	18	-
08	A 1101 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	
	MAIN, POWER MAIN	100.00	10111	70,00	7000.00		
09	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
	TO VARIOUS						
0	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2 40		425.00	22.4.00	40	
	LABOR FOR WIRING OF DB TO HOT WATER  SYSTEM	2.40		135.00	324.00	18	
11	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT	• • • •		•			-

•	per the instruction given by our site incharge.						
312	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2.80	DAT	700.00	2242.00	40	
	LABOR FOR WIRING OF MAIN METER BOX TO  DB	2.80	RMT	790.00	2212.00	18	
13							
J	A 1101 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	1.60	RMT	210.00	336.00	18	
	INPUT-OUTPUT	1.00	NWI	210.00	330.00	10	
14	A 1101 ELECTRICAL WORK INTERNAL						
•	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
	SOCKETS		-				_
15	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	
16	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
	READYMADE DB						
17	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	
	COMPANY MANUFACTURE						
18	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	
	HOT WATER SYSTEM						
19	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	
	AC UNITS						
20	A 1101 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	3.40	DAT	225.00	940.00	40	
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	_
21	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	_
22	SWITCH						
22	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1 90	DOINT	475.00	1215 00	40	
	LABOR FOR 2 LIGHT OPERATED WITH 1 SWITCH	1.80	POINT	675.00	1215.00	18	_
23	A 1102 ELECTRICAL WORK INTERNAL						
23	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	
	WITH 2NO 2WAY SWITCH	1.00		700,00	700.00		_
24	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH						_
25	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	
26	A 1102 ELECTRICAL WORK INTERNAL						
•	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	
		0.00	. •				_

	have pleasure in placing with you our Work order for the orthe instruction given by our site incharge.		,				
327	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	
	SPEED CONTROLLER						
328	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	
220		0.20	POINT	675.00	133.00	10	
329	A 1102 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	
330	A 1102 ELECTRICAL WORK INTERNAL						
330	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	
331	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.20	POINT	325.00	65.00	18	
	POINT						
32	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.40	DOWLT	400.00			
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	
333	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
34		0.00		200.00	120.00	10	
34	A 1102 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	
35	A 1102 ELECTRICAL WORK INTERNAL						
,,,,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	
336	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	
337	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	
338	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	400.00					
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	
339	MAIN, POWER MAIN A 1102 ELECTRICAL WORK INTERNAL						
,,,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
	TO VARIOUS						
340	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	
11	SYSTEM						
841	A 1102 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT	2. 10					
342	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	
	DB					_	

43	A 1102 ELECTRICAL WORK INTERNAL						
13	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	1.60	RMT	210.00	336.00	18	
	INPUT-OUTPUT						
44	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
	SOCKETS						
45	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	22.00	DUT	40.00	4220.00	40	
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	_
46	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	NOC	3500.00	700.00	40	
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
47	READYMADE DB A 1102 ELECTRICAL WORK INTERNAL						
7/	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	
	COMPANY MANUFACTURE				200.00		
48	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	
	HOT WATER SYSTEM						
49	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	
	AC UNITS						
50	A 1102 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2.40	D.U.T.	225 22	040.00	40	
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	
51	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK		DOINT	475.00	2425.00	40	
	LABOR FOR 1 LIGHT OPERATED WITH 1 SWITCH	6.60	POINT	475.00	3135.00	18	_
52	A 1201 ELECTRICAL WORK INTERNAL						
J <u>Z</u>	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	
	SWITCH						
53	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	
	WITH 2NO 2WAY SWITCH						
54	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH						
55	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1 20	DOINT	E7E 00	(00.00	40	
	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	
56	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.00	DOWE	000.00	720.00	40	
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	_
57	POINT						
J/	A 1201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	
	SPEED CONTROLLER	2.00	. 5.111	.50,00	300.00		-

as p	er the instruction given by our site incharge.						
358	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	POINT	(7F 00	435.00	40	
	LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	
59	A 1201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	
60		3.00	101111	300.00	1500.00	- 10	_
00	A 1201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	
61	A 1201 ELECTRICAL WORK INTERNAL			-			_
•	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.20	POINT	325.00	65.00	18	
	POINT						
62	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	
63	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
64	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK		DO:::=		205		
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	_
65	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	DOWE	400.00	22.22	40	
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	_
66	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.40	POINT	300.00	120.00	18	
<u> </u>	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	FUINT	300.00	120.00	10	_
67	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	
SΩ		0.70	. 51111	230.00	100.00	10	_
68	A 1201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	
	MAIN, POWER MAIN	100.00	19111	,,,,,,	7000.00		
69	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
	TO VARIOUS						
70	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2 (2		425.00	20.4.00		
	LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	
71	SYSTEM A 1201 ELECTRICAL WORK INTERNAL						
. 1	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT				<del>-</del>		
72	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	_
	DB						
73	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1.60	D.C.	242.22	227.00		
	LABOR FOR WIRING OF INVERTER		RMT	210.00	336.00	18	

	per the instruction given by our site incharge.		owing contract kindly execute the work         14.00       RMT       90.00       1260.00       18       %         22.00       RMT       60.00       1320.00       18       %         0.20       NOS       3500.00       700.00       18       %         0.20       NOS       1500.00       300.00       18       %         0.20       NOS       920.00       184.00       18       %         3.60       RMT       225.00       810.00       18       %         6.60       POINT       475.00       3135.00       18       %         1.80       POINT       675.00       1215.00       18       %         0.20       POINT       700.00       700.00       18       %         1.20       POINT       1000.00       200.00       18       %         0.80       POINT       900.00       720.00       18       %         2.00       POINT       150.00       300.00       18       %				
374	A 1201 ELECTRICAL WORK INTERNAL			90.00 1260.00 18 %  60.00 1320.00 18 %  3500.00 700.00 18 %  1500.00 300.00 18 %  1500.00 300.00 18 %  1500.00 3135.00 18 %  7 475.00 3135.00 18 %  T 700.00 700.00 18 %  T 900.00 720.00 18 %			
	ELECTRICAL INSTALLATION WORK	14.00	DAAT	00.00	1240.00	40	
	LABOR FOR WIRING OF RJ 11 TELEPHONE SOCKETS	14.00	KMI	90.00	1260.00	18	
75	A 1201 ELECTRICAL WORK INTERNAL						
75	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	22 00	RMT	60.00	1320 00	18	
76			IUIII		1320.00		
/0	A 1201 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
	READYMADE DB		1103	3300.00	700.00		
77	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	
	COMPANY MANUFACTURE						
78	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	
	HOT WATER SYSTEM						
79	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	
	AC UNITS						
80	A 1201 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	
81	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	
	SWITCH						
82	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	
	SWITCH						
83	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	_
0.4	WITH 2NO 2WAY SWITCH						
84	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	DOINT	1000.00	200.00	10	
	LABOR FOR 3NO. 2WAY LIGHT OPERATED WITH 2NO 2WAY SWITCH		POINT	1000,00	200.00	10	_
85	A 1202 ELECTRICAL WORK INTERNAL						
65	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	1 20	POINT	575 00	690.00	18	
07		1.20	101111	373.00	070.00		
86	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.80	DOINT	000 00	720.00	10	
	LABOR FOR WIRING OF 2 WAY CEILING FAN POINT		POINT	900.00	720.00	10	_
37	A 1202 ELECTRICAL WORK INTERNAL						
,,	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2 00	POINT	150 00	300 00	18	
	SPEED CONTROLLER	2.00	. 0.111	.50,00	300.00		_
88	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	- · · · · - · <del>- ·</del>						

as p	per the instruction given by our site incharge.						
389	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	
90	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	
392	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	
393	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
394	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	
395	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	
396	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	
397	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	
398	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	
200	MAIN, POWER MAIN						
399	A 1202 ELECTRICAL WORK INTERNAL						
	LARON FOR WIRING OF 15A PLUG FROM DR	22.00	RMT	115.00	2530.00	18	
	LABOR FOR WIRING OF 15A PLUG FROM DB TO VARIOUS	22.00	T/W I	115.00	2530.00	10	_
400	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	
	SYSTEM						
401	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT						
402	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	
400	DB						
403	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1.60	RMT	210.00	336.00	10	
	LABOR FOR WIRING OF INVERTER INPUT-OUTPUT	1.60	K/M I	210.00	336.00	18	
404	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
	SOCKETS						_
405	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	

06	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
	READYMADE DB						
7	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	_
٠.	COMPANY MANUFACTURE						
8(	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	NOC	030.00	494.00	40	
	LABOR FOR FIXING MS FABRICATED BOX FOR  HOT WATER SYSTEM	0.20	NOS	920.00	184.00	18	_
9	A 1202 ELECTRICAL WORK INTERNAL						
,,	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	
	AC UNITS	0.20	1103	1300,00	300.00		-
10	A 1202 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	
11	A 1301 ELECTRICAL WORK INTERNAL						-
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	
	SWITCH			.,,,,,,	0.00.00		-
2	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	
	SWITCH						-
13	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	
	WITH 2NO 2WAY SWITCH						
14	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH						
15	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	_
16	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	
	POINT						
17	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	_
	SPEED CONTROLLER						
18	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	DOINT	47E 00	135.00	10	
	LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	_
9	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK		DC:::=	200 00	4800 55		
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	_
20	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	

	have pleasure in placing with you our Work order for the	ne following conti	act kindly e	execute the work			
•	per the instruction given by our site incharge.						
421	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.30	DOINT	225.00	<b>(F.00</b>	40	0/
	LABOR FOR WIRING FOR AQUA GUARD PLUG POINT	0.20	POINT	325.00	65.00	18	%
422	A 1301 ELECTRICAL WORK INTERNAL						
722	ELECTRICAL WORK INTERNAL  ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	%
422		1.00	1 01111	400.00	0-10.00	- 10	70
423	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	%
42.4		0.00		200.00	120.00	10	/0
424	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1 00	DOINT	225.00	225.00	10	0/
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	%
425	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	BOULT	400.00	20.00		01
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	%
426	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	%
427	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	%
428	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	%
	MAIN, POWER MAIN						
429	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	%
	TO VARIOUS						
430	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2 /2			20 / 20		0/
	LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	%
424	SYSTEM						
431	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	%
	UNIT	2.40		300.00	720.00	10	/0
432	A 1301 ELECTRICAL WORK INTERNAL						
132	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	%
	DB						
433	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	1.60	RMT	210.00	336.00	18	%
	INPUT-OUTPUT						
434	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	%
	SOCKETS						
435	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	%
436	A 1301 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	%
	READYMADE DB						

	have pleasure in placing with you our Work order for the per the instruction given by our site incharge.	e following cont	ract kindly e	execute the work						
437	A 1301 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	9			
	COMPANY MANUFACTURE		.,,,,							
438	A 1301 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	9			
	HOT WATER SYSTEM		1105	720.00	10 1.00					
439	A 1301 ELECTRICAL WORK INTERNAL									
737	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK									
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	9			
	AC UNITS	0.20	1403	1300.00	300.00	10				
440	A 1301 ELECTRICAL WORK INTERNAL									
UFF	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK									
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18				
		3.00	RWI	225.00	810.00	10	9			
441	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	9			
	SWITCH									
442	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	,			
	SWITCH									
443	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	9			
	WITH 2NO 2WAY SWITCH									
444	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	9			
	WITH 2NO 2WAY SWITCH									
445	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	9			
446	A 1302 ELECTRICAL WORK INTERNAL									
110	ELECTRICAL INSTALLATION WORK									
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	9			
	POINT		T OINT	700.00	720.00	10				
447										
447	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK	2.00	DOINT	450.00	200.00	40				
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	,			
4.40	SPEED CONTROLLER									
448	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	,			
449	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	9			
450	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	9			
451										
<del>-1</del> 31	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK	0.22	DOWE	225.00	<b>45.00</b>	40				
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.20	POINT	325.00	65.00	18				
452	POINT									
452	A 1302 ELECTRICAL WORK INTERNAL									
	ELECTRICAL INSTALLATION WORK									
	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18				

as p	per the instruction given by our site incharge.						
153	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
54	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	4.00	DOINT	225.00	225.00	40	
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	
455	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	
456	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	
457	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	
458	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	
	MAIN, POWER MAIN						
459	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
470	TO VARIOUS						
460	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	2 40		135.00	224.00	10	
	LABOR FOR WIRING OF DB TO HOT WATER  SYSTEM	2.40		135.00	324.00	18	
461	A 1302 ELECTRICAL WORK INTERNAL						
101	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT						
462	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	
	DB						
463	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF INVERTER	1.60	RMT	210.00	336.00	18	
	INPUT-OUTPUT						
464	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
	SOCKETS						
465	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	
166	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
147	READYMADE DB						
167	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.30	NOC	1500.00	200.00	40	
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	
-68	COMPANY MANUFACTURE						
.00	A 1302 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	
	HOT WATER SYSTEM	0.20	1,00	,20,00	107,00	10	_

	have pleasure in placing with you our Work order for the per the instruction given by our site incharge.						
469	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	
	AC UNITS						
470	A 1302 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	
474		3.00	RWI	223.00	810.00	10	
471	A 1401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	
	SWITCH				3.33.00		
472	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	
472	SWITCH						
473	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	
	WITH 2NO 2WAY SWITCH	1.00	10111	700.00	700.00		
474	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH						
475	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1.20	POINT	575.00	690.00	10	
477	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	373.00	690.00	18	
476	A 1401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	
	POINT			700,00	720.00		
477	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	
	SPEED CONTROLLER						
478	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	
470		0.20	FOINT	073.00	133.00	10	
479	A 1401 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	
480	A 1401 ELECTRICAL WORK INTERNAL						
100	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	
481	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.20	POINT	325.00	65.00	18	
	POINT						
482	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1.70	DOINT	400.00	(40.00	40	
402	LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	
483	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
484	A 1401 ELECTRICAL WORK INTERNAL	0.00		200.00	120.00		
<del>101</del>	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						

as p	per the instruction given by our site incharge.						
185	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	DOINT	400.00	00.00	40	
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	
36	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.40	DOINT	300.00	120.00	40	
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	
37	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.40	DOINT	250.00	400.00	40	
	LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	_
88	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	400.00	DAT	00.00	0000 00	40	
	LABOR FOR WIRING OF CIRCUIT  MAIN, POWER MAIN	100.00	RMT	90.00	9000.00	18	_
89	A 1401 ELECTRICAL WORK INTERNAL						
37	ELECTRICAL WORK INTERNAL  ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
	TO VARIOUS		14111	113,00	2550.00		_
90	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	
	SYSTEM						
91	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB TO OUTDOOR AC	2.40		300.00	720.00	18	
	UNIT						
92	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF MAIN METER BOX TO	2.80	RMT	790.00	2212.00	18	_
22	DB						
93	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	1.60	RMT	210.00	336.00	10	
	LABOR FOR WIRING OF INVERTER INPUT-OUTPUT	1.00	IVIVI	210,00	330.00	18	
94	A 1401 ELECTRICAL WORK INTERNAL						
, ,	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
	SOCKETS						_
95	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	
96	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
	READYMADE DB						
97	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR	0.20	NOS	1500.00	300.00	18	
	COMPANY MANUFACTURE						
98	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	<u> </u>					
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	920.00	184.00	18	_
00	HOT WATER SYSTEM						
99	A 1401 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK	0.20	NOC	1500.00	200.00	40	
	LABOR FOR FIXING MS FABRICATED BOX FOR	0.20	NOS	1500.00	300.00	18	

00	A 1401 ELECTRICAL WORK INTERNAL						
00	ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	
)1	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1 LIGHT OPERATED WITH 1	6.60	POINT	475.00	3135.00	18	
	SWITCH						
)2	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 2 LIGHT OPERATED WITH 1	1.80	POINT	675.00	1215.00	18	
12	SWITCH						
)3	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 1NO. 2WAY LIGHT OPERATED	1.00	POINT	700.00	700.00	18	
	WITH 2NO 2WAY SWITCH	1.00	1011(1	700.00	700.00	- 10	
14	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR 3NO. 2WAY LIGHT OPERATED	0.20	POINT	1000.00	200.00	18	
	WITH 2NO 2WAY SWITCH						
)5	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF CEILING FAN POINT	1.20	POINT	575.00	690.00	18	
)6	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 2 WAY CEILING FAN	0.80	POINT	900.00	720.00	18	_
17	POINT						
07	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	SUPPLY & INSTALLATION OF MODULAR FAN	2.00	POINT	150.00	300.00	18	
	SPEED CONTROLLER	2.00		130,00	300.00		_
08	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF BELL POINT	0.20	POINT	675.00	135.00	18	
)9	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF 5A PLUG POINT	5.00	POINT	300.00	1500.00	18	
10	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING OF EXHAUST FAN POINT	0.80	POINT	600.00	480.00	18	
11	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK						
	LABOR FOR WIRING FOR AQUA GUARD PLUG	0.20	POINT	325.00	65.00	18	
	POINT						
12	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF 15A SWITCH SOCKET	1.60	POINT	400.00	640.00	18	
		1.00	POINT	400.00	040.00	10	
3	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR RJ11 TELEPHONE SOCKETS	0.60		200.00	120.00	18	
1.4		0.00		200.00	120.00	- 10	_
14	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR MODULAR TV SOCKETS	1.00	POINT	225.00	225.00	18	
15		1.00	. 01111	223,00	223.00	10	
5	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 11*11 CEILING JUNCTION BOX	0.20	POINT	400.00	80.00	18	
	EMPORTOR TELEFICIENTO JUNCTION DOX	0.20	FUINT	700.00	00.00	10	_

							_
		3.00		Contract Amoun		6834	92
30	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK LABOR FOR WIRING OF DB1 TO DB2	3.60	RMT	225.00	810.00	18	
20	AC UNITS  A 1403 FLECTRICAL WORK INTERNAL	0.20	NOS	1500.00	300.00	18	_
	ELECTRICAL INSTALLATION WORK	2.22	NCC	4500.00	200.00		
29	A 1402 ELECTRICAL WORK INTERNAL						
	LABOR FOR FIXING MS FABRICATED BOX FOR HOT WATER SYSTEM	0.20	NOS	920.00	184.00	18	_
28	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	LABOR FOR 16 WAY SPN DOUBLE DOOR COMPANY MANUFACTURE	0.20	NOS	1500.00	300.00	18	_
<i>-1</i>	ELECTRICAL INSTALLATION WORK	0.55	1105	4500.00	225 22		
27	READYMADE DB A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 12 WAY TPN DOUBLE DOOR	0.20	NOS	3500.00	700.00	18	
26	A 1402 ELECTRICAL WORK INTERNAL						
	LABOR FOR WIRING OF TV SOCKETS	22.00	RMT	60.00	1320.00	18	_
25	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
25	SOCKETS  A 1402 ELECTRICAL WORK INTERNAL						
	LABOR FOR WIRING OF RJ 11 TELEPHONE	14.00	RMT	90.00	1260.00	18	
24	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
	INPUT-OUTPUT						
	LABOR FOR WIRING OF INVERTER	1.60	RMT	210.00	336.00	18	_
	ELECTRICAL INSTALLATION WORK						
23	A 1402 ELECTRICAL WORK INTERNAL						
	LABOR FOR WIRING OF MAIN METER BOX TO  DB	2.80	RMT	790.00	2212.00	18	_
	ELECTRICAL INSTALLATION WORK	2.00	DAAT	700.00	2242.00	40	
22	A 1402 ELECTRICAL WORK INTERNAL						
	LABOR FOR WIRING OF DB TO OUTDOOR AC UNIT	2.40		300.00	720.00	18	_
	ELECTRICAL INSTALLATION WORK	<b>2</b>		200.00	<b>700</b>		
21	A 1402 ELECTRICAL WORK INTERNAL						
	SYSTEM	∠. <del>1</del> ∪		155.00	J27.00	10	-
	ELECTRICAL INSTALLATION WORK  LABOR FOR WIRING OF DB TO HOT WATER	2.40		135.00	324.00	18	
20	A 1402 ELECTRICAL WORK INTERNAL						
	TO VARIOUS						-
	LABOR FOR WIRING OF 15A PLUG FROM DB	22.00	RMT	115.00	2530.00	18	
17	A 1402 ELECTRICAL WORK INTERNAL ELECTRICAL INSTALLATION WORK						
19	MAIN, POWER MAIN A 1402 ELECTRICAL WORK INTERNAL						
	LABOR FOR WIRING OF CIRCUIT	100.00	RMT	90.00	9000.00	18	_
	ELECTRICAL INSTALLATION WORK						
18	A 1402 ELECTRICAL WORK INTERNAL						
	ELECTRICAL INSTALLATION WORK  LABOR FOR 7*7 WALL JUNCTION BOX	0.40	POINT	250.00	100.00	18	
17	A 1402 ELECTRICAL WORK INTERNAL						
	LABOR FOR 9*9 CEILING JUNCTION BOX	0.40	POINT	300.00	120.00	18	_
	ELECTRICAL INSTALLATION WORK						

We have pleasure in placing with you our Work order for the following contract kindly execute the work as per the instruction given by our site incharge.

Total (A + B) 806524.13

**Terms & Conditions** 

## SAFETY TERMS

- 1) Work Compensation (WC) Policy is a must for every contractor.
- 2) Required all their laborers Aadhar card copy and Passport size Photo.
- 3) All PPES in Contractor Scope.
- 4) TPI (Third Party Inspection) Certificate must for their Machineries which they install on our site.
- 5) Every Quarterly they must submit a service report of their respective machines to the site incharge.
- 6) Contractor has to maintain enough lighting during night work at site.
- 7) Debit Note Policy will be applicable if the contractor failed to maintain the safety norms
- \* All responsibilities of goods during transportation and unloding at site by supplier and vendors.
- \* Please submit your Bill/invoice along with delivery challan and PO copy in favour of Neptune Realty Pvt. Ltd. At project site office officialy.
- \* Biling amount should not exceed the rate and total value mentioned in this WO.
- \* Failure to comply with specification, terms and conditions of this order or accepted delivery. schedule shall be sufficient grounds for cancellation of order by purchase with out being liable.

For NEPTUNE REALTY PVT. LTD.		
Authorized Signatory		